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Year 9 — Representations
Probability

By the end of this unit you shoukd be able to:
*  Find single evertt. probabilty

*  find relative frequency

*  Find expected outcomes

¢ Find independent events

o ke diggrams to work out probabilties
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Probability: the. chance. that something wil happen
Relative Frequency: how often something happens divided by the outcomes
Independent: an event. that is not. effected by any other events
Chance: the. lkelihood of a particular outcome

Event: the outcome of a probability — a set of possibe outcomes

Biased: a bull in error that makes all values wrong by a certan amount
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